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(25 43) 1. Determine the differential equations (A) ~ (E) are linear or nonlinear ?
Ay =yP-2y+2y =3¢  B)y® +4y =10sinx  (C)y® + xy'= 6x
D) ¥ +6(y')* =3y =cosx E) y® +siny=0
(15 43) 2. (a) Is the equation (e* + y)dx = —-xdy exact? (b) Please find the solution of this equation!
(10 77) 3. Solve the differential equation: y® — 63" — Y +6y=0
(10 43) 4. Solve the differential equation: y" —2y' — 3y = e

(15 77) 5.54LA Laplace transform 3k O.D.E  p"—4y'+3y =10, ¥(0)=72, y'(0)=2

(10 ﬁ}) 635 F{f(x)}Fourier  transformt; F(o)8[F{e™ f(x)} B{a?
(A) €"“F(w) B) F(w-a) (C)1

(15 92) 7417 Ty IEREEE
(A) sin 4x; ; (B)x’sin3x: 7 (C) 2x + cos2x:




